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QUESTION 1

Which business object do you use to set up the details of the classification data that you want to download and
configure how it is mapped from the content provider\\'s data to the Global Trade Management (GTM) data structure?

A. Data Load Type
B. External System
C. Product Classification Category
D. Content Source

Correct Answer: B

QUESTION 2

Shipment# 10059 is a Multi-Stop shipment with two orders. Both orders are picked up in New York City. One of the
orders is dropped off in Philadelphia, Pennsylvania, and the other order dropped off in Baltimore, Maryland. There is
empty capacity on this shipment for you to add another order (# 1234), which is picking up in Philadelphia and dropping
off in Baltimore. The status of Shipment# 10059 is "SECURE RESOURCES: NOT_STARTED"

Which shipment planning option should you use to ensure that order release# 1234 is assigned to Shipment# 10059?
A. Move Order to Existing Shipment

B. Bulk Plan

C. Manual

D. Show Routing Options

Correct Answer: D

QUESTION 3

At which three levels does Match Rules allow the Invoice Matching to occur? (Choose three.)
A. Shipment Ship Unit line level

B. Shipment level

C. Order line level

D. Shipment Ship Unit level

E. Shipment location level

Correct Answer: BCE
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QUESTION 4

Which rate component defines how transportation time will be calculated for the Rate?
A. Rate Service

B. Rate Distance

C. Rate Record

D. Rate Lane

E. Rate Offering

Correct Answer: B

QUESTION 5

Which option represents Original Invoice Cost field at Shipment?

A. Contains the initial invoice amount adjusted by any additional charges or invoices that the carrier later sent to you
B. Total Approved Cost on a sell Shipment

C. The Initial invoice amount received from the carrier

D. Total Actual Cost minus the rebate amount as defined in the Secondary Charge Rules

Correct Answer: C
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